Nombres Décimaux (1)

Trouvez chaque somme.

493,66 + 25,276 = 14,691 + 103,46 =
514,18 + 6,8993 = 62,86 + 58,26 =
2883,3 +5115,2= 252,29 + 148,01 =
0,94965 + 0,57565 = 83,973 + 0,28297 =
828,09 + 3,1585 = 328,43 +3,2063 =
80304 + 24,394 = 775,6 +40390 =
9,5361 + 0,82644 = 1,215+ 0,48147 =
57,136 + 1,2518 = 47817 +4,3033 =
5515,9 + 24,301 = 458,81 +5461,2 =
42,835 + 664,77 = 7137,7 +2910,7 =
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Nombres Décimaux (I) Solutions

Trouvez chaque somme.

493,66 + 25,276 = 518,936

514,18 + 6,8993 = 521,0793

2883,3 +5115,2="7998,5

0,94965 + 0,57565 = 1,5253

828,09 + 3,1585 = 831,2485

80304 + 24,394 = 80328,394

9,5361 +0,82644 = 10,36254

57,136 + 11,2518 = 58,3878

5515,9 + 24,301 = 5540,201

42,835+ 664,77 = 707,605

14,691 + 103,46 = 118,151

62,86 + 58,26 = 121,12

252,29 + 148,01 = 400,3

83,973 +0,28297 = 84,25597

328,43 +3,2063 = 331,6363

775,6 + 40390 =41165,6

1,215 + 0,48147 = 1,69647

47817 +4,3033 =47821,3033

458,81 +5461,2 = 5920,01

7137,7 +2910,7 = 10048.4
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